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Left Operan

System.out.println("Enter x:");

int x = input.nextInt();

Systgm out println(" Enter' y:"); (lﬂ
7 1

{
.print n( y / X is greater than 2" );
}
else {
- if(x = 0) {

System.out.println("Error: Division by Zero");

}
else {

System.out.println("y / x is not greater than 2");
}




Showt = Croeodt Tupluston - |

T
Left Operand op1 Right Operand op2 opl || op2 |—%E|:=O f !j/bl

=’ fiiﬁﬁ [ falss
-—.>

false @
;Pb frue

System.out.println("Enter x:");
int x = input.nextInt();
System out prlntln( Enter y:");

[x>2 1| X-=0
1/3)> % preth.

System.out.println("Error: Division by Zero");

}
else {
System.out.println("y / x is greater than 2");
}
}
else {

System.out.println("y / x is not greater than 2");

}
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Short-Cip€uit Evaluation is not exploited: crash when x == 0

if (v /x> 2 k& x 1= 0) {
/* do something */

}

else {
/* print error */ }

C"”f}" Wl;@w A==0

Short-CirClyﬂEvaluation is not exploited: crash when x == 0

if {y / x <= 2\|| x == 0) |

/% print error x/
}
else {
/* do something =/ }
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System.ouf.prifit1n("AY))
<

}

bi £ {
bystem.out.printlni{%ﬂﬂ;
}

—>if m{

lgystem.ouf:D intlnigzﬁjl
\ 7

else {
System.out.printIn("F");

ri;ku

[System.out.println("A"Lﬁ

else if (MAFKSIS=NT0)
System.out.println("B");

}
else if (marks >= 60) {
System.out.println("C");

}
else {

System.out.println("F");
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es-this p_rogram-a S print exactly one I|n ? @

% rintln("x < N D VMM[T”PIQ, (Tﬁ‘z 104—%”/7)'47
lfi (o = 1oy )

(10 <= x && x < { pZintIn("10 <= x < 20"); }
Tf£(x >= 20) { prlntln(" >= 20"); }

rint exactly one Ime’?

(1

tln("0 <= x < 1NO"); }

lse i = ) 1ntln( 10 <= x < 20");
e 1f(x/>= 20) { prlntl),f >= 20"); 1} (:)

N . - . : X< =
hi ified version is equalew (x>
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i \ ntin("x < 0"); } g;b
e 1 { println("0 <= x < 10"); }
else if ) { println("10 <= x < 20"); }

e { Zrintln("x >= 20"); }







If we Iya/ve a single if statement, then having this order
if { System.out.printlH("x > 5")@ }
else 1 ) { System.out.println("x >= 0"

)i}
. o7 AT
iS¢ fferent hav7ng this order

7
i { System.out.println|{"x >= 0") /}
—jelse 1 { System.out.println("x >= 5"); }
/
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grauateW1 T =|"Pass"} TEQI: che:
} JVPC( TC 4
else if (gpa (>=
graduateWith = "Credlt"°
} mové J)?P[//‘
else if (gpa {
graduateWith = "Distinct]

} — C
else if (gpaw{af@[y

graduateWith.%>"High Distinction" ;

—_—

} —
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Confusingly, braces can be omitted if the block contains a

single statement.

final double PI = 3.1415926;

Scanner input = new Scanner(System.in);
double radius = input.nextDouble() ;
—SJ[Ef (radius >- 0l

System.out.println("Area is " + radius * radius x PI);

Q

Your program will misbehave when a block is supposed to
execute multiple statements , but you forget to enclose them

&within braces.

final double PI = 3.1415926;

Scanner input = new Scanner(System.in);
double radius = input.nextDouble() ;
double_?rea = @ %

—Ppif (Eégéﬂé_ZE_Q){ (7
Xlarea = radius * radius * PI;§

-%>System.out.printlnthrea is " +<é553}%

—
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Semicolon (;) in Java marks the end of a statement (e.qQ.,
\JaSS|gnment if statementnr %WW /

if Fagtup >= 13 ¢ WWJ//*’/M(

+>area = radius * fadius * PI;
éSystem.out.println("Area is " + area);
}

L]

This program will calculate and output the area even when the
input radius is negative, why? Fix?
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String raduateW1 h
if (g;l;éﬂ‘ =7.5) {

else if ( >= 4) |

)(graduateW' h = "Distinction"; }
else if (9£2?>= Ju9) 1
><graduateW' h = "Credit"; }

else if (gg§é>= 2.5) |

Y graduateWith = "Pass"; }

)(graduatelith = "High Distinction" ;
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}
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AN i

if] % z/mi

@D ( {

xL System out println("x 1s larger than 100");

@{

> System. out. prlntln((—ﬁis negatiVEF);
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else {
i1sEven

NOITIIT
i (tsEvep —= {

Systémjout.println("0dd Number");
}

else ({
System.out.println("Even Number");

}
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